
 

http://le-stylo-de-vero.eklablog.com 
 

 

NUMERATION et CALCULS 

Trouve l’intrus. 
 

 
Quelle réponse  
ne correspond à aucun  de ces calculs ? 

 Calculs réponses 

 200 – 140 12000 
 60 x 20 600 
 24000 / 2 1200 
  60 
 
 
 
 
Combien va lui rendre le marchand ? 

NUMERATION et CALCULS 

L’intrus. 
 
 
 

 
 
 

 

NUMERATION et CALCULS 

Trouve l’intrus. 
 

 
Quelle réponse  
ne correspond à aucun  de ces calculs ? 

 Calculs réponses 

 5000 / 2 250 
 1000 / 4 2 500 
 500 x 500 25 000 
  250 000 
 

NUMERATION et CALCULS 

L’intrus. 
 
 
 
 

 
 
 

NUMERATION et CALCULS 

Trouve l’intrus. 

 200 - 80 102 + 18 

6 x 20  12 x 10 

240/2  1200/100 

 37 + 83 30 x 4 

  360/3 120 x 0 

 
 

 
 

NUMERATION et CALCULS 

L’intrus. 
 
 
 
 

 
 
 

600 

25 000 

120 x 0  

120 


